A & ol & AF Y E A A
20199 & =0 & YB3l |
SN CAZED
I 1200 Hlol4g
2 : 210 BAEAN LY
& : 212 NE22Y (9 &
SN-E-B-8-2 O &t o8 0l & o HRE2
z 7 1,700,000 1,671,000 29,000
SAZ2ID 1,700,000 1,671,000 29,000
200 MI2l4¢ 1,700,000 1,671,000 29,000
210 ZARAA+Y 209, 000 190,000 19,000
212 AHEB4Y 209,000 190,000 19,000
212-01 T2AIBE 209,000 190,000 19,000
c2AN82 209,000
220 2 AT A4+ 2 1,491,000 1,481,000 10,000
223 BHZLBHES 1,491,000 1,481,000 10,000
223-02 Ol L N 3 330,000 330,000 0
OZHAES OIBLHI 330,000
223-05 BEHZ 1,161,000 1,151,000 10,000
YA D E 1,160,000
OBJISZeIHABDEHE 1,000




N = 0 &8 AF S 9 Al A
201908 &= 20l & LB H Z Al 22l
EA: S AIZE D
Nz YHES TAEE XM
ER: ZADIBE 2= (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
S AlZtel ot 6,300,741 3,950,401 2,350,340
W TAEE T4H 6,096,740 3,776,195 2,320,545
SADIE 2= 4,143,241 2,974,550 1,168,691
T28H ¥ g2 811,490 910,050 N 98,560
201 Yot Y| 35,540 20,910 14,630
01 At 22l ] 19,800 500 19,300
OHIHEAN & MEEE S5 7¢ 500
OAHAEALH, AZEANAE 2 &X
3,300,000& = 14! 3,300
ORA, EXGHE ¥ HRHYE &I|o-&2
ZIAE=EY 4,000,000& * 427D| 16,000
02 352494l 15,740 20,410 N4,670
O2AXNNXNE HeEHE M2
1,800,000& * 8& 14,400
OA & &Hl XYl 1,340
-SZ 22 EH K& 1,598& * 400L 640
-0l FI dAXA 5,000& * 10L = 6CH 300
-0l £=2lt] 200,000& * 2CH 400
202 044 4,600 4,600 0
01 2LHOHI 4,600 4,600 0
OZAZ2E RF=X04H] 4,600
203 &R =&H| 2,000 2,000 0
03 Al F=X AR =AH| 2,000 2,000 0
OEZAZe AIHFALRFEHI 2,000
206 M = Hl 49,350 47,340 2,010
01 X 2 Hl 49,350 47,340 2,010
OxzgEslg 7 49,350
-E5tc32¢ 13,000& * 2,500% 32,500
-NEAHEZE S5E72L 20,0008 * 50 1,000
-=ctE3g 200,000& = 100K 2,000
-8 8,500& * 200m* 1,700
—AlHIE Q! 5,000& = 1601 800
- 222 40,000& * 50m 2,000
-doz2+"g 66,000 * 50m 3,300
-AE0golgy 2 25,000& * 504 1,250
-SZ 22 A28 € M 2L
400,000€ * 12& 4,800
305 HAa=2S 7,000 7,000 0
01 i3S 7,000 7,000 0
Oti&a 2 7,000




EX: T AlZel
M HNE CABY EA
el SADIE E CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
401 Al HI 2L 2 0HHI 711,000 811,000 A 100,000
01 A& HI 710,000 810,000 A 100,000
o222 8 4| 400,000
OHY & XotXE |22 60,000
B2 X 24 (L=10km) 100,000
T2H HxHA L =2 &bl 50,000
ONEHEZ 228 XNEx 100,000
03 AlE 201 Y] 1,000 1,000 0
OAlIE 20t 1,000
405 XtabF SHI 2,000 1,200 800
01 Mt =S F SHI 2,000 1,200 800
OE222| &Y (L&)
1,000,000& * 204 2,000
XH Gl CH =4 36,170 23,500 12,670
201 LEt2 Y| 31,770 21,300 10,470
01 AFR2t2l bl 31,770 21,300 10,470
OMHAMENY X SES=7 U= 31,770
— =4 X (15ton) 1,650,000& = 10 16,500
-5 2(0.6m) 660,000& ~ 12 7,920
-85 22(0.3m") 550,000& * 7 3,850
— & X (15ton) 500,000& * 7 3,500
206 M = Hl 4,400 2,200 2,200
01 M= bl 4,400 2,200 2,200
Aees + 22,000& * 200X 4,400
N T102008 6 (REEHE S)gA2 2,050,000 1,000,000 1,050,000
308 AXISHXSOoIH 1,750,000 700,000 1,050,000
07 HXSHN2AEESZ 1,750,000 700,000 1,050,000
OFJAHE X &2 1,750,000
401 Al HI L 2 0HHI 300,000 300,000 0
01 A& HI 300,000 300,000 0
OXYE10205 & A2t 300,000
2EBSEH(SS~ELSIZEEZ2AN) A2 434,581 250,000 184,581
308 XX S M SO0l & 434,581 200,000 234,581
07 AIXISHH2EE 2 434,581 200,000 234,581
OXNAMEHYE X2l 2,401,000,000& * 18.1% 434,581
I EC2ZHHEEZ LAY 701,000 501,000 200,000
401 Al HIL 20| 701,000 501,000 200,000
01 A& HI 700,000 500,000 200,000
OLsE=Z MMZEZ(L=7km) 700,000




25 S A22
M YRS TAEH XM
Sl SADIE RE EERED
4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 Al&E 201 Y| 1,000 1,000 0
OAIZ 20| 1,000
S A S SA22 110,000 290,000 A 180,000
401 AlEHIZL 2 0HY| 110,000 290,000 A 180,000
01 Al& H| 110,000 290,000 A 180,000
OHl#2 =c2te &Hl 300,000& * 100K 30,000
OZ22AN&E= HH| 80,000
TAEH FHH| 1,953,499 801,645 1,151,854
A0 xel 4,155 4,155 0
201 Bt 1,755 1,755 0
01 AP 22| H| 1,755 1,755 0
OARVANE 228X 7Y
20,120 * 28t A x 12& 483
OAFUAAANST STy EHE A28 7¢
192,940 = 44 772
OAFgHE TN 7Y 50,000& * 10= 500
202 044 2,400 2,400 0
01 22Ul 2,400 2,400 0
OA=G Y 280 600,000 * 4H 2,400
SYHASSE o= 24,367 22,106 2,261
101 e1214| 15,012 12,772 2,240
04 JI2tHIZ22XNSES 15,012 12,772 2,240
OAFz &2 822X 20 15,012
-J=3 66,800 * 18 = 170¥ 11,356
SasFLE 66,800& x 1 » 35¢ 2,338
- xRa+e 66,800 * 1&¥H = 7Y 468
- 34| 5,0008 » 1 * 170< 850
201 et d| 6,955 6,934 21
01 AFR 2t 2| bl 6,955 6,934 21
ORtHA=E=CE U ZSFEH 24 S22 HE 1,830
-2 N&E 100& = 15,0000H 1,500
-3 49 H& 55,000& = 60K 330
ORetd==2 dyUEEN 2 SJI1Lxs
500,000 * 13| 500
OABVHL 5 L 2H242
500,000 * 43| 2,000
OS2 22 L ofH SI| 448
3,000 * 20024 600
OZALIINE(Z=RHE, ZH)E2 Htoly 2
50,000& = 10H 500
OZZIH)| A2E ¢ 1,525




2N SAZel
M YA T AEE =4
Sl SAEZ I EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-SHEEg Zelgll EY
258,500& = 404 1,034
-—SHEEE A3 SAEX
20,4503 * 224 « 128 491
202 O4dl 2,400 2,400 0
01 = LH 4 Hi 2,400 2,400 0
Ozd=z2clg FRFI 0o 600,000& * 44 2,400
SYFEX &= 1,360,389 186,909 1,173,480
201 Let24E] 182,749 161,069 21,680
01 At 22l 23,349 26,739 A 3,390
OFEF X UEE 2 2+ 3,560
—JHZE S0 AEA
2503 = 20008 = 43l 200
—JEHZE DXNA 70,0003 * 49 A « 43 1,120
-MEHHE SEDXNM 2 18
70,0003 * 8YA + 43| 2,240
OFX0l8 AUHZE M & M
503 = 5,00001 * 28 * 43| 2,000
OSYEICs U DEANER 849 A
55,000& = 1000H 5,500
OFIXALUHE FSHAF L oM S+
=g 3,000& = 300A 900
OFFXNUHBEITDNMN £ 05 ¥ dptZeld
HALARE 2L 11,389
-&4 192,940 * 300H 5,789
-—U=DEl EY 2 48
140,000& = 81 = 5& 5,600
02 =224l 159,400 134,330 25,070
OFEXUEHZTDANAN H=s=SEI1 L POA=ClHI
200,000& * 53 1,000
OPDA E4I 23 180,000& » 12& 2,160
OJ&AHR =2 170,000& * 12& 2,040
OFEX & RHEX fER=S 154,200
-sJ|fd 2,130& = 60,0004 127,800
—YLEIRHE 330& = 80,000 26,400
202 04 Hl 2,400 2,400 0
01 = LH 4 Hi 2,400 2,400 0
Ounszelg 2=l 600,000 » 4H 2,400
207 O] 41,240 6,240 35,000
01 289 35,000 0 35,000
BRUM =X HAS B EXNF 25 o
DEMA N 84 35,000,000& * 14! 35,000
02 & LRI 6,240 6,240 0




2N SAZel
HE: WNE CABY T4
Chel: S AIEE FHI (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSgE+=3xUEE T2 S22l
800,000& = 4= 7| 3,200
ORHEXXE T2 X2l
760,000& = 4= 7| 3,040
401 Al HI R 201 I 1,099,000 16,500 1,082,500
01 A& HI 1,099,000 16,500 1,082,500
FEXNSNFY LM 3,000,000 * 2km 6,000
O=&EX=X EX& 500,000& = 2504 12,500
OXNSEMHE SH5TH RAE=(2U) 4,500
Osdtd & ST 4XAY
55,000,000& * 14l 55,000
OLFA RolgkEJtiet £ X
31,000,000 = 1004 31,000
On&EH CCTV 2toiet WA 5,000,000& = 204 10,000
OSotHXE SE=IE A0 900,000
OSotHIE SS=IE SAtHI
80,000,000& =« 14l 80,000
405 XHoHF S HI 35,000 700 34,300
01 AL EZFH S 35,000 700 34,300
OOlS4 gME S50t 2L
35,000,000& * 14 35,000
SEANES & EF 2 564,588 575,177 A 10,589
101 @14 dl 305,022 184,817 120,205
04 JIZHHZ2XRHEE S 305,022 184,817 120,205
OZsazd Fad =0 37,038
-Jles 66,8003 * 2¥ = 170 22,712
-guaesy
66,8003 * 1.5 » 2H = 35¢ 7,014
-ReS5dsE 66,800& * 2% = 35 4,676
L PNES = 66,8003 * 2H » 7¢ 936
-S4 5,000& = 28 = 170 1,700
Os&EJ| A=2el 20 4,574
-Jl2= 66,8003 * 1H » 43¢ 2,873
-FL22+E 66,800 * 1.5 x 1H » 6 602
- Resdsd 66,8003 * 1H » 8¢ 535
i PN E =y 66,8003 * 1 » 2 134
- =AM 5,000& * 28 = 43¢ 430
O, MetH= 2el =Y 261,410
-J22 66,8003 * 50H » 44 146,960
- 522
66,8003 = 50 * 12& * 1.5 60,120
-SeE5dsE 66,8003 * 50 = 10 33,400
RPN RS 66,8003 * 50H » 2¢& 6,680




2N SAZel
Bu: HNE CASY E4
Sl SAEZ I EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 22| 5,000& = 50 = 57 14,250
OA==2¢l 1T =Hl 40,0003 = 50 2,000
201 €2l 86,466 145,060 A 58,594
01 At 22/l 32,680 17,850 14,830
OZssTd HYES 7Y 7,920
-PHUES(EX, LM S)
40,000 = 11 = 73] 3,080
- HAES 20,000& * 11012 + 73 1,540
—BIIAZ A 60,000& = 11012 = 53 3,300
O28HII=Hdel &FHl Xz
660,000& * 13l 660
O=248HJlg §I13X s28+Y% 5 &
55,000& * 300H 1,650
OSHHIIE =HEH (.0t )
300,000& * 53 1,500
OA=2el &==9 M= 55,000 * 300H 1,650
OA=2cl IHHSHE 2t M
130,000& * 1094 1,300
OA= Ht&&EHl ZH FXE 660,0008 * 52 3,300
OL&RHXsE E2&810 AUz
600,000& = 1213 7,200
OAH=U SUHEXNE M (SH2R, MXYIIE
JIZ2X) 250,000& = 304 7,500
02 =224l 53,786 127,210 AT3,424
OZ3sazd ®IIes
20,0003 * 1114 * 12003 2,640
O3 =223
150,000& * 34 * 12003 5,400
OeB=L MIRS 2,500,000 = 1290 & 30,000
O=2%8 M8 UiR= 300,000& = 23l 600
O&3E Hatl 200,000 * 110HA 2,200
Oot£8 FUZE 23
80,000& = 20H = 12J0H& 1,920
Oz&st&4 =& |XHl 300,000& * 110 3,300
OA=EAANE S22l 5,000
O3=zad g ¢gdE |FX 228l
5,500 * 1104 * 12042 726
OSYSEIIZA ACGEZDE OIHEX & |X
2= 200,000& = 103l 2,000
202 04l 1,800 2,400 A 600
01 = LH o4 1l 1,800 2,400 A 600
OZADI2E RF=T0HHI 600,000& = 3H 1,800
401 AIEHI L 20 169,900 242,000 AT72,100
01 A& tl 169,900 242,000 AT72,100




S Al 2tel Bt
HEs TASE =4
SAIEE EHl

SH - BAEA) - MRAY - BES Of &t o il
OAZU ANESE RA2 ZH, ASELS) 40,000
O3S MEAILEH 30,000
OAF=XE FH 30,000
Oz20l SSet&E4 X1 30,000,0008 * 1044 30,000
O0lsal ANEZDE
3,300,000  3CH 9,900
OAlgE2el cCTV &Xl 30,000
405 At&tE =HI 1,400 900 500
01 AL ESFH SH 1,400 900 500
OUaA=22a HoA F
700,000& * 1CH 700
Osz9 78 700,000 ~ 1CH 700
HY2IBH (A2 ) 204,001 174,206 29,795
el=l 2l 87,931 57,686 30,245
eIl 87,931 57,686 30,245
101 @124 8] 87,931 57,686 30,245
03 RIHLZ 22> 87,931 57,686 30,245
OSHFEXIUHE 2t HREX 27,415
-Jl2= 1,745,150% = 18 « 128 20,942
- HF A 130,0008 18 « 123 1,560
- S 24| 130,000& » 1 = 12& 1,560
—HXEAH 9,594  BAIZE + 1 « 7L 538
- E2FJtl 1,047,002 = 1& * 23] 2,095
-IE=E 60,000& = 198 * 128 720
O3 xteEd ISyl 2,700
- gats 200,0008 * 6% 1,200
-oes= 200,0008 * 6% 1,200
-2=23 50,0002 * 6% 300
OFFINSEE YRFF Ay
8,000 = 6241 * 12E 5,952
O+ ¥ I=H 2,280
-22=(85) 150,000& * 6% 900
-28=(5=) 100,000& * 6 600
-t St 50,0003 * 6% 300
— etA X)) 20,000& * 6% 120
-<9 20,0003 * 6% 120
- A2 20,000& * 6% 120
-3 20,0003 * 6% 120
OzZ+2d 2= bl
0 = 624 ~ 12 5,952
OFJ ¢ -HMHEH all 2,970
-2f=(85) 150,000 = 99 1,350




2N SAZel
Y HAFYSIHH (ZTAZ2D)
Eel: o2y )
SA BB O () - MM - HES 0l &+ o4 il 2t
-225((5t=s) 100,000& * 99 900
- &5t 50,000& = 99H 450
-&g2 10,000 * 99 90
- &3t 20,000& = 99 180
OFJ & A=A HARFA 4l
8,000& = 104 * 8H » 123 7,680
odezs=2a 2o 32,982
-JlEs 1,814,120& » 1H » 1228 21,770
- gAY 130,000& = 1H » 123 1,560
TR = 130,000& = 1H = 123 1,560
-2
14,886% * 30AI2t » 1H » 12& 5,359
— X2 4| 9,9243 * BAIZF » 1H » 7Y 556
- ZE S| 1,088,470& * 1H « 23| 2,177
|23 bl 116,070 116,520 A 450
Jl2&l 116,070 116,520 A 450
201 L2yl 42,990 42,490 500
01 At 22|l 29,790 30,490 AT700
ONs8E MEESHI 420,000& = 12& 5,040
OJIEt==EHI 300,000& = 12& 3,600
OIZelHIl L SAD 228 7Y
350,000& = 12& 4,200
OARI1D1 #=2lbl 300,000& =12& 3,600
OUEAH= BEF=XE RS 700
Ootzt & FTL22X Sl
550,000& » 23H 12,650
=323l 13,200 12,000 1,200
ORERS3 1,100,000& * 12& 13,200
202 oddl 66,240 66,240 0
1 20014 66,240 66,240 0
OJl2dfF=&80d 240,000& » 2398 = 12& 66,240
e N 5,640 5,640 0
P ECEEES 5,640 5,640 0
ORA2Y ZRF2H| 470,000& = 12& 5,640
204 2R A H| 1,200 1,200 0
Mg A 1,200 1,200 0
OXMg =AY 100,000& » 12& 1,200




	55_도시관리과(세입)
	55_도시관리과(세출)

